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SECTION A: Multiple-Choice Questions (20 x 2 marks)

For each of the questions frem.1.fo 20;-four options are given. One of
them is the correct-answer. Make your éhoice‘-'(_:’l'; 2, 3rord). Shade-the
correct oval (1, 2, 3 or 4) on.the Optical Answer Sheet TOAS)

1. What does the digit 4 in' 4507 staind f6i?

(1) 40 ones

(2) 40tens

(3) 40 hundreds

(4) 40 thousands ( )

2. Express 6 km 3 min metres. The answer is

(1) 63m

(2) 603m

(3) 6003 m

(4) 6030 m ( )

3.  Whatis the total amount of money shown below?
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(1) $18.85
2) $19.56
(3) $20.55
(4) $20.65 ( )




Clara bought a box of apple tarts that costs $2.40
She also bought a box of egg tarts that costs $1.70
How much did she pay in all?

(1) $0.70
(2) $1.30
(3) $3.10
(4) $4.10

7356 is 1000 less than

(1) 6356

(2) 7356

(3) 8356

(4) 9356

There are groupé of 9in72.
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8.  Find the sum of 430 and 3762.
(1) 3192
(2) 3332
(3) 4192 ..
'(4) 8062 ( )

9. How many angles within the figure are bigger than a right angle?

(1)
e
(3)
4)

BN

( )

10. What is the difference between the values of the digit 6 in 6400 and
36007 ;

(1) 540

(2) 2800

(3) 3000 |

(4) 5400 «( )

11. The prodﬁct of 450 and 4 is the same as tens.

(1) 18

(2) 180

(3) 1800

(4) 18000 ( )




12. Mrs Tjio needed 140 clips for a project. She only had.7 boxes of
clips. Each box contained 12 clips. How many more clips dld she
need for her project?

A{1) 56
2) 84 °
3 121
4) 159 (¢ )
13. When Tom added 3145 and 5682, his answer was 8727.
Thé digit in the place of TFomi's dnrsweris wrong. -
(1) ones
(2) tens
(3) hundreds
(4) thousands ( )
5 . 1 . .
14. Mrs Goh spent 12 h on cooking and 2 h on washing the dishes.
How much time did she spend on both chores?
1
() gh
: 1
(2) 3zh
1
3 5h
2
4y Zh ( )
3 . . v o
15. How many thirds are there m\'&?
' 2 wheles
2) 8
3y 17
(4) 24 ( )



16.

.

18.

6x4= x'_3

—

(1) 8

(2) 21

(B) 24 |
4) 72 ( )

Peter’s watch wds fatify. it read half past 3 p.m. whenthe actual
time was 3.15 p.m. Ifhis wateh-read 5.05 p.m., whaitwas the actual
time? o '

1) 420p.m.

2) 4.50p.m.

3) 5.20p.m.
(4) S550pm. « )

Find the shaded area.of the figure below. ABEF and BCDE
are identical rectangles. '

A . B | C

8 cm

F E D
18 cm
(1) 36cm’
(2) 52cm’
(3) 72cm’
(4) 144 cm® A )




The graph_ below shows the number of children who like to eat

chocolate ice-cream. Use it to answer questions 8 and 18.
14 ¢

32 5

3A 3B 3C 3D 3E

Classes
19.  If there are 37 children in class 3F, how many childreﬁ do not like

to eat chocolatée ice=Gream?

(1) 16
) 21
(3) 43
(4) 53 ( )

20.  Which class has half as many children wheo like to eat chocolate
icecream as class 3A?

(1) 3B
2) 3C
(3) 3E
4) 3F ( )

37.



SECTION B: Open-ended Questions (20 x 2 marks)
Write the correct answers in the answer boxes provided. Show your
working. ' '

21.  What is the missing number in the blank below?

2617, 2667, 2767, 2817

Ans:

22.  MrLim earns $185 in a day. How much will he earn in a week?

Ans: $

23. Arrange the following fractions in descending order.

3
11

ow|—=
192

Ans:

24.  Form the smallest 4-digit ev‘en;_:nu‘mbe_r wnth the following digits.

2 0,5,9

Ans:




25. Thé product of two numbers is 260. The smaller number is 4.
" What is the difference in the value between the two numbers?

Ans:

26. The figure below.is made up of a rectangle and a squaré. Find its
area.

4 cm
o — e

.
1 . Sem

¥

8cm

Ans:

57.  The shaded figure is drawn on'a square grid.
How many pairs of parailei lines form the shaded figure below?

Ans:

37.



28.

29,

30.

Express 175 minutes in houfs and minutes.

Ans- h- min

720 children were watching a swimming competitien at a complex.
There were thrjce as many girls as boys at the complex. How

\.1;?—-&-.. "L

many beys were watching. the sSwimming corapetition?

Ans:

John paid a total of $250 for 2 identical watches and 1 teddy bear.
A teddv.bear cost $70. How much did each watch cost?

Ans:| $




Ans: " . ;\

32.  Study the number patterns below.
What is the value of Z'?

5 [ 2] {715} |91l7?

7
L

Ans: _‘

There are 25 sweets in each boX.
lty into 5 bags. How many sweels

33 Jariehas 8boxeésof sweets.
She repacks the sweets equa
will there be in each bag?

ANS: k

10 p
/-




34.  The figure below is made up of 4 identical squares.
What fraction of the figure is shaded?

Ans:

35. Look at the pictures carefully. Find the mass of object A.

Ans:

11




Samuel cuts the rope inta equal pieces of length 8 cm each. How
many cuts did he make?

'36. The length of a piece of rope is 64°¢cin.

Ans:

37. When atank is filled with 33 £ of water, itis on!y%‘ full.
What is the capacity of the tank?

Ans:

38.  In 6 year's fime, the total-age of Clement and his mother will be
63 years. If Clement is 9 years old now, what is his mother's age

now?

d |
Ans: | years 0

b | 43



- 39. Timothy and Alice had the same amount of money. How much
money must Timothy give to Alice so that Alice would have $24
more than Timothy? :

Ans: $
40. Denise has 6 number cards as shown below.
6 5 4 3 2 1

She places ali the cards in the shaded boxes below. Each card
can only be used once.
What is the smallest sum she can get?

Ans:

13




Solve the following stety sums. All werkings muist be showrt clestly.
Draw qu_é!Si’f-ﬁeeeSséry.

41.

42.

i nacl'a"ss—g—“ofﬂ} apits-likeradininiton, - %ofth’”epUpii‘s like
volleybali-and-the rést likesoftball -

(a) Vvhatfraglion of thie-¢lass like.softball?

{b) Whatfraetion of the class like volleyball and softball?

Leave your answer in the simplest form.

-Anszay) L 2]

b) _{2]

Guo Quan has 86 more erasers thanw_i\‘flut_[r_m..How many erasers
must Guo Quan give Muthu se that Guo Quan will have 40 more
erasers than Muthu?

Ans: [4]

14

4§y



43.

44,

Emma and Francis had an equal number of stickers at first. After
Emma:beughttwice the number of stickeis-of what-she-had: atﬁrst B
and. Erancis.gave away.8 stickers: mEmm&had-tt'ﬁmég*as TENY
stickers as Francis .How many stickers did Francis have at first?

ARS: 14]
Ali ran thrice as far as Benson.
Benson ran 240 m less than Carl.
Carl ran 360 m less than Ali.
How far did Carl-run?
Ans: [4]

\3




45, - The pattérn-below is made up-of-a:seriss:ofblack-and.white -

counters. The figurés show the number of blaék and-white -
counters needed to form each T-shape.

N N Qe e ON NON NON RO
O O O .
® ®
O
Figure 1. Figure 2 . Figure 3
(4-countérs) (7 countéis) (10 counters)
Figure Number of Number of | Total number
number . | white counters | black counters | of counters
1 3 1 4
2 . 3 4 T
3 6 4 10

(a) Find the number of white counters for Figure 4.

(b) Find the number of black counters for Figure 4.

(c) Find the total number of counters for Figure 10.

o

Ans: a) | [1]
b) [1]
c) ' 121

END OF PAPER
© Please check your work. ©
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Answer

EXAM PAPER 2012

SCHOOL : CATHOLIC HIGH

SUBJECT: PRIMARY 3 MATHEMATICS

TERM SA2

QL| Q2|03 ]Q4 |05 Q6| Q7 | Q8 | Q9 |0Q10] Qr1| Q127013 |'Q14] Q1571016 { Q17
3 3 3 4 3 4 3 3 2 4 2 1 3 4 1 1 2
Q18 Q19! g20

3 2 1

21)2717 22)$1295 23)2/5,3/11,1/8 24)2590 25)61

26)57cm2 27)4 28)2h 55min 29)180 bhoys 30)$90

31)4 32)10 33)40 34)18/ 35)200g 36)7

37)99L 38)42 years old 39)$12 40)381

41)a)15/15~6/15—-5/15 = 4/15

4/15 of the class like softhall.

b)5/15 + 4/15 =9/15
9/15=3/5 4
3/5 of the class like volleyball and softball "\
42)2u->86 — 40 = 46 ‘"\
1u>46+2= 23 i
Guo Quan must give Muthu 23 erasers.
Page 1 to 2 page 1

49.


Answer Key


43)4u>1u + 8 +lu+ 1u + 8
4u->3u + 24
lu>24
F at fifsstJau:4-8.
>24 ¥8 . 7
=32 -
Francis had 32 stickers at first.

44)240 + 360 = 600
60052 =300
300 + 240 = 540

Carl run for 540m.

45)a)6 +0 =6
There are 6 white counters in Figure 4.

b4+ 3=7
There are 7 black counters in Figure 4.

C)The is a total of 31 counters in Figure 10
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